Modular Drawers - R Line

For Shelving

Assembly Guide

« All required hardware is included.

« Please check the contents with your
packing slip.

* Read instructions carefully.

* Save this document for future
reference.

Shelf
Tablette

Rail

Rail
Safety first !
Always wear safety gloves. Carriage
Chariot
Hardware Quincaillerie
Tapping screw  1/4-20 nuts 1/4-20 bolts 1/4-20 bolts
Vis taraudeuse  Ecrous 1/4-20 Boulons 1/4-20 Boulons 1/4-20
35180122 3A1818L2 3A1824L2
2x @ 16X ' 16X 16X (P For bolted brackets
i i
] T shelving units
Hooked on or rivet type =~ =
mounting brackets = =
Profilés sur rivets ou crochets. For b?[te braCk?tS =
Profilé boulonnés =

Warning! Read Before Installation

=

rousseau

of Borroughs side-by-side

Profilé boulonnés pour étagéres
Borroughs juxtaposées

Tiroirs modulaires - Ligne R

pour étageres

Guide d'assemblage

« Toute la quincaillerie requise est incluse.

* Veuillez vérifier le contenu avec votre
feuille de livraison.

* | isez attentivement les instructions.

» Conservez ces instructions pour
référence future.

Mounting brackets
Profilés de montage

Drawer
Tiroir

Attention !
Portez des gants de travail.

Outils requis

Phillips #3

7/16"

18"&24"

Mounting bracket heights
Hauteurs des profilés de montage

36"&48"

Bolted shelf
Tablette
boulcnnée

N

1

l«— _Shelf at 36" c/c max. — | <r:1
Tablette a 36" c/c max.

N

il x

Bolted shelf
Tablette
boulornée

| "4

Shelving unit must be anchored to the floor or to the wall structure. Ensure that posts are against shelves.
L'étagere doit étre ancrée au sol ou la structure des murs. S’assurer que les poteaux sont bien appuyés contre les tablettes.

FAILURE TO INSTALL SHELVING WITH DRAWERS
ACCORDING TO THE ABOVE MENTIONED
REQUIREMENTS & THIS ASSEMBLY GUIDE

INSTRUCTIONS COULD RESULT IN SERIOUS BODILY
INJURY AND/OR PROPERTY DAMAGE.

TOUT MANQUEMENT A INSTALLER LES ETAGERES
AVEC TIROIRS SELON LES EXIGENCES CI-HAUT ET
SELON CE GUIDE D'ASSEMBLAGE PEUT ENTRAINER
DES BLESSURES SERIEUSES OU DES DOMMAGES AUX
EQUIPEMENTS.

rousseaumetal.com
1-800-463-4271

Page 1/4 R18-AL10B

7D002018



Technical Features

Mounting brackets / Profilés de montage :

RE01 Bolt mounting bracket in oblong holes of the post.
Boulonner les profilés dans les trous oblongs du
poteau.

REO2 When bolting the shelf directly above and below the
drawers, a spacer must be used between the shelf
and the post to fill the space normally occupied by

the shelf clip. ~g1802-330
8x
RE04
RE14 . . .
RE26 olting of the shelf above the drawers is not required.
RE31

Détails techniques

REO05
REO7
RE16 The shelf above the drawers cannot be bolted.
RE29
RE32

RE25 Bolting not required. Use shelves on shelf support only.
Le boulonnage des tablettes n'est pas requis. Utiliser
les tablettes sur support de tablette.

RE22 The shelf above the drawer must be bolted because the
shelf hooks cannot be used.

The illustrated posts and mounting brackets may not be
similar to your own parts. While the mounting bracket shape
may vary depending on your brand of shelving unit, the
installation process remains the same.

Les poteaux et profilés illustrés ne sont pas nécessairement
semblables a ceux que vous possédez. La forme des profilés
peut varier selon la marque de votre étagéere, cependant le
principe d'installation demeure le méme.

Mounting Bracket Assembly

Assemblage des profilés de montage

Hooked On or Rivet Type Mounting Brackets

Profilés sur crochets ou rivets

u Remove the shelf directly 0
above the drawers.

B Hook the mounting
brackets to the front and
rear posts.

IMPORTANT ! You
must secure the rear
mounting brackets
in place with screws
included.

m Replace and bolt the shelf
above the drawers.

2x%
)

rousseaumetal.com

u Enlevez la tablette au-dessus
des tiroirs.

E Fixez les profilés aux
poteaux avant et arriére.
IMPORTANT !
Sécurisez les profilés
O arriere en place avec
O 0 les vis fournies.

0 ‘ E Replacez et boulonnez la
Ol tablette au-dessus des tiroirs.

[
Hooked on Rivets

Crochets

Rear
Arriere

ﬁjﬁ 3

1-800-463-4271

Page 2/4




Bolted Mounting Brackets

Profilés boulonnés

=
8 or/ ou 16x .C’ﬁ% v For bolted brackets
N = of Borroughs side-by-side -
8 or/ ou 16x shelving units Boulonnez les profilés aux

u Bolt the mounting
brackets to the front and
rear posts.

*For 18" H mounting
brackets or less,

2 bolts required, one atm— |

each extremity.

* For mounting brackets
over 18" H, 4 bolts
equally spaced required.

Bolt the shelf above the
drawers.

Profilé boulonnés pour étagéres
Borroughs juxtaposées

0
Iy
oo
QL
NG ,O/
Ny
Ul o
N
o)
Iy 8
U0
N
Yl o
N
Yl o
nt %
povert |1 | -
Py °
% )

1 08

ingle shelvin
Ei

Rear
Arriere

poteaux avant et arriere.

* Les profilés de 18" ou
moins nécessitent 2
boulons, un a chaque
extrémité.

* Les profilés de plus de 18"
utilisent 4 boulons
également répartis.

Boulonnez la tablette au-
dessus des tiroirs.

Borroughs
Side-by-side shelving
Etagéres juxtaposées

Rear
Arriere

tagére simple

Front
Devant

Front
Devant

u Remove the shelf directly
above the drawers.

Hook the mounting
brackets to the front and
rear posts.

IMPORTANT ! Rear
mounting brackets must
be secured with security
clip placed at the top of
the mounting bracket.
Use a hammer.

Replace the shelf above
the drawers.

n Enlevez la tablette au-
dessus des tiroirs.

E Fixez les profilés aux
poteaux avant et arriere.

IMPORTANT ! Insérez une
fixation de sécurité dans le

haut des profilé arriere a
l'aide d'un marteau.
Arriere
/N
%E ° Replacez Ia tablette au-
dessus des tiroirs.
g _
Front -
Vaﬂt - Front
pe H Devant
U\) Page 3/4 rousseaumetal.com

1-800-463-4271




Rail Assembly

To install the rails, start from the bottom.

* Note that there is right and left rails.

Free Space Between Rails

Installez les rails en commencant par le bas.
* Notez qu'il y a des rails gauches et droits.

Assemblage des rails

Espace libre entre les rails

Drawer above another drawer
Tiroir au-dessus d'un tiroir

Drawer above a RF41 roll-out shelf
Tiroir au-dessus tablette coulissante RF41

RF41 Roll-out shelf above a drawer
Tablette coulissante RF41 au-dessus tiroir

u Insert the rear
hook of the rail
into the
rectangular slot of
the rear mounting
bracket.

Drawer Insertion

rousseaumetal.com
1-800-463-4271

Insert the front rail
hooks into the square
openings of the front
mounting bracket. Use
a hammer to secure
the rail in place.

Insertion des tiroirs

IMPORTANT

Page 4/4

Insérez 'extrémité
du rail comportant
un crochet dans
l'ouverture
rectangulaire du
profilé arriere.

| Top shelf
o= / Tablette du haut
, | Drawer
| | Tiroir
| e T
| Tttt Tttt | |
L ! | v | Lo Rotoutshet
— " | - i
! Drawer H-5 ! T Tablette coulissante
¢ | Tiroir # | H H-1" [} [
e s e e e i ﬁ
H-3" ol ﬁ ! | N
T H ¢ | i____Roll-outshelf ____ f | Drawer H
f | Drawer |  Tablette coulissante | Tiroir ¢
| Tiroir ¢ 2" | L Y
I | e |
f |
|
1 Post Bottom shelf 1 Post Bottom shelf \ Post
Poteau Tablette du bas Poteau Tablette du bas Poteau
4
4
4 Left rail
Rail gauche

o Front post
Poteau avant

3 Front mounting bracket
Profilé avant

4 Rear post
Poteau arriere

5 Rear mounting bracket
Profilé arriere

E Insérez les crochets
avant du rail dans
les ouvertures
carrées du profilé
avant. Utilisez un
marteau pour fixer le
rail solidement.

Security Sticker / Autocollant de sécurité

[

This SECURITY sticker, included in the
assembly kit, must be placed on the top drawer.

Ce collant de SECURITE fourni dans le sac de
quincaillerie doit étre placé sur le tiroir du haut.

-
(=]
c
7]
173
[]
Q
c

—  See sticker 74500651
Voir autocollant 74500651



	Page 1
	Page 2
	Page 3
	Page 4

